

Friday 6:30 pm

Revolutions Lanes and Fun Center

Lanes 5 - 24

USBC Certification:

President: Brandon Libel is on Lane 21

Vice President: Aaron Smith is on Lane 14

Secretary/Treasurer: Ray Knoth is on Lane 22

Team Standings

Place	#	Team Name	%Won	Points Won	Points Lost	UnEarned Points	Y-T-D % WON	Year-To-Date WON	Y-T-D LOST	Games Won	Scratch Pins	Pins + HDCP
1	12	MCON	72.4	84	32		72.4	84	32	61	96416	96878
2	1	Lengels Custom Cabinets	68.1	79	37		68.1	79	37	56	88230	95199
3	11	Dream Weaver Graphics	66.4	77	39		66.4	77	39	58	91542	94926
4	9	Junk Drawer	65.1	75½	40½		65.1	75½	40½	54½	88097	94301
5	16	Rolling Dirty	64.7	75	41		64.7	75	41	58	87718	95221
6	6	Fat Jacks Bar & Grill	58.6	68	48		58.6	68	48	51	81749	93767
7	2	Southside Body Shop	58.2	67½	48½		58.2	67½	48½	50½	83599	94186
8	10	FS Transport	56.0	65	51		56.0	65	51	49	83250	90912
9	7	Kerns Motor Service	56.0	65	51		56.0	65	51	47	86779	94414
10	3	Can't Believe its not gutter	54.3	63	53		54.3	63	53	49	84985	94234
11	14	Maybe Next Week	48.3	56	60		48.3	56	60	45	74655	91746
12	4	Savages Lanes	44.0	51	65		44.0	51	65	39	78499	92644
13	15	All or Nothing	43.1	50	66		43.1	50	66	38	80333	93284
14	17	Split Happens	40.9	47½	68½		40.9	47½	68½	36½	69871	88867
15	18	Gutter Gang	40.5	47	69		40.5	47	69	36	80004	92298
16	5	Victory GMC	40.1	46½	69½		40.1	46½	69½	34½	73321	91498
17	13	Fresh Fry's Lawn Care	37.9	44	72		37.9	44	72	33	74734	91828
18	20	Adam's Family Productions	36.2	42	74		36.2	42	74	31	69383	90653
19	19	Blue Balls & Sticky Fingers	29.3	34	82		29.3	34	82	26	57620	85961
20	8	Roberts Roofing	19.8	23	93		19.8	23	93	17	59261	85661

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON		Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
5-6	Roberts Roofing	1021	1032	963	3016	1	<--->	Can't Believe its not g	1031	957	1091	3079	3
7-8	Victory GMC	1016	1077	1069	3162	4	<--->	Adam's Family Produc	961	1028	944	2933	0
9-10	Savages Lanes	1046	1022	1055	3123	0	<--->	Rolling Dirty	1180	1136	1188	3504	4
11-12	Split Happens	1079	1155	1035	3269	0	<--->	Lengels Custom Cabi	1202	1248	1171	3621	4
13-14	Southside Body Shop	1202	1150	1098	3450	4	<--->	Blue Balls & Sticky Fi	983	995	1001	2979	0
15-16	Fresh Fry's Lawn Care	1075	1089	1008	3172	0	<--->	Dream Weaver Graphi	1114	1113	1021	3248	4
17-18	FS Transport	1024	1069	1036	3129	1	<--->	Maybe Next Week	1155	1059	1074	3288	3
19-20	MCON	1055	1074	1021	3150	1	<--->	Fat Jacks Bar & Grill	1065	1071	1078	3214	3
21-22	Junk Drawer	1065	1066	1183	3314	3	<--->	Kerns Motor Service	1138	1052	1020	3210	1
23-24	Gutter Gang	1064	970	991	3025	0	<--->	All or Nothing	1136	1014	1177	3327	4

Lane Assignments

	<u>5-6</u>	<u>7-8</u>	<u>9-10</u>	<u>11-12</u>	<u>13-14</u>	<u>15-16</u>	<u>17-18</u>	<u>19-20</u>	<u>21-22</u>	<u>23-24</u>
Today	13- 17	18- 14	10- 2	6- 3	16- 11	19- 8	4- 5	1- 9	12- 15	7- 20
Next Week	19- 6	4- 7	5- 11	9- 13	10- 8	17- 16	18- 2	15- 3	1- 20	14- 12

Last Week's Top Scores

Scratch Game	1158	Lengels Custom Cabinets	1117	Junk Drawer	1112	Rolling Dirty	
Scratch Series	3351	Lengels Custom Cabinets	3276	Rolling Dirty	3179	Dream Weaver Graphics	
Handicap Game	1248	Lengels Custom Cabinets	1202	Southside Body Shop	1188	Rolling Dirty	
Handicap Series	3621	Lengels Custom Cabinets	3504	Rolling Dirty	3450	Southside Body Shop	
Men	Scratch Game	269	Dave Campbell	268	Haydon Bone	265	Daniel Pickerel
	Scratch Series	738	Dave Campbell	728	Doug Barlow	728	Dakota Kessler
	Handicap Game	296	Haydon Bone	277	Zach Sipes	273	Daniel Pickerel
	Handicap Series	755	Thomas Todd	746	Doug Barlow	746	Arley Furgeson

Last Week's Top Scores - Continued

Women	Scratch Game	247	Emmy Bucher	247	Kelley Wisneski	243	Shayna Spencer
	Scratch Series	695	Shayna Spencer	682	Olivia Pickerel	615	Jacque Menini
	Handicap Game	283	Emmy Bucher	270	Krystal Lengel	268	Kelley Wisneski
	Handicap Series	767	Shayna Spencer	757	Olivia Pickerel	705	Emmy Bucher

Season High Scores

Scratch Game	1251	MCON	1197	Dream Weaver Graphics	1196	Rolling Dirty	
Scratch Series	3570	MCON	3410	Dream Weaver Graphics	3351	Lengels Custom Cabinets	
Handicap Game	1274	MCON	1257	Kerns Motor Service	1256	Rolling Dirty	
Handicap Series	3621	Lengels Custom Cabinets	3570	MCON	3570	Rolling Dirty	
Men	Scratch Game	300	Brody Johansen	300	Ryan Brown	300	Tyson Cook
	Scratch Series	813	Brian Menini	805	Ryan Brown	782	Brandon Libel
	Handicap Game	324	Chaz Wilson	310	Cody Cook	308	Brody Johansen
	Handicap Series	832	Chaz Wilson	813	Brian Menini	805	Tyson Cook
					805	Ryan Brown	
					805	Haydon Bone	
Women	Scratch Game	269	Jacque Menini	268	Angela Kerns	268	Olivia Pickerel
	Scratch Series	716	Angela Kerns	695	Shayna Spencer	682	Olivia Pickerel
	Handicap Game	300	Jacque Menini	300	Olivia Pickerel	292	Kim Duke
	Handicap Series	767	Shayna Spencer	758	Angela Kerns	758	Olivia Pickerel

Team Rosters

Lane 5 - 13 - Fresh Fry's Lawn Care HDCP=152 Avg=909

Name	Pins	Gms	Avg HDCP	
Zach Sipes	14057	78	180	32
Colby Bravo	10356	66	156	51
Chaz Wilson	14186	78	181	31
Taylor Patterson	16183	84	192	22
Jacob Olson	5408	27	200	16

Lane 6 - 17 - Split Happens HDCP=218 Avg=825

Name	Pins	Gms	Avg HDCP	
Amber Wahlgren	8106	63	128	73
Michelle Thomas	9517	75	126	75
Kenny Wahlgren	14226	78	182	30
Mike Thomas	14604	81	180	32
Arley Furgeson	16306	78	209	8

Lane 7 - 18 - Gutter Gang HDCP=144 Avg=916

Name	Pins	Gms	Avg HDCP	
Keith Whaley	15988	87	183	29
William Recar	12025	81	148	57
Tim Power	15170	78	194	20
Curtis O'neal	15366	81	189	24
Ethan Bartram	15186	75	202	14

Lane 8 - 14 - Maybe Next Week HDCP=190 Avg=860

Name	Pins	Gms	Avg HDCP	
Kari Beaver	10494	79	132	70
Denise Fones	11345	72	157	50
Shawn Staples	11399	59	193	21
Haydon Bone	13931	75	185	28
Jim Bone	15710	81	193	21

Lane 9 - 10 - FS Transport HDCP=90 Avg=985

Name	Pins	Gms	Avg HDCP	
Lisa Findley	9990	55	181	31
Bo Zebelean	12173	60	202	14
Jordan Eggman	11583	57	203	13
Vern Allison	13598	69	197	18
Joey Findley	15780	78	202	14

Lane 10 - 2 - Southside Body Shop HDCP=109 Avg=962

Name	Pins	Gms	Avg HDCP	
Tom Goldizen	14622	81	180	32
Thomas Todd	15619	84	185	28
John Clous	15898	81	196	19
Elie Foster	14755	74	199	16
Ethyn Goldizen	17392	86	202	14

Lane 11 - 6 - Fat Jacks Bar & Grill HDCP=128 Avg=949

Name	Pins	Gms	Avg HDCP	
Briana Westcott	10163	59	172	38
Haleigh Peters	9031	63	143	61
Jacque Menini	15114	79	191	23
Taylor Cook	15905	75	212	6
Brian Menini	19477	84	231	0

Lane 12 - 3 - Can't Believe its not gutter HDCP=91 Avg=987

Name	Pins	Gms	Avg HDCP	
Alex Osbourn	14457	81	178	33
Jackson Todd	9967	48	207	10
Tyson Cook	16989	81	209	8
Joe Larison	11705	69	169	40
Trey Myers	17476	78	224	0

Lane 13 - 16 - Rolling Dirty HDCP=74 Avg=1006

Name	Pins	Gms	Avg HDCP	
John Brott	15835	84	188	25
Daniel Pickerel	15178	72	210	8
Olivia Pickerel	12013	63	190	24
Jim Lewis	16898	79	213	5
Lester Briggs	17270	84	205	12

Lane 14 - 11 - Dream Weaver Graphics HDCP=25 Avg=1067

Name	Pins	Gms	Avg HDCP	
Dalton Cook	16344	78	209	8
Mike Dixon	12569	60	209	8
Brody Johansen	15226	72	211	7
Aaron Smith	9793	45	217	2
Dakota Kessler	17970	81	221	0
Zak Swyhart	2043	9	227	0

Lane 15 - 19 - Blue Balls & Sticky Fingers HDCP=305 Avg=717

Name	Pins	Gms	Avg HDCP	
Mike Chappell	9191	63	145	60
Lori Chappell	8833	81	109	88
Matt Gilpin	8849	60	147	58
Gage Thomas	6951	57	121	79
Titan Irvine	2346	12	195	20

Lane 16 - 8 - Roberts Roofing HDCP=330 Avg=684

Name	Pins	Gms	Avg HDCP	
Heather Larison	8150	48	169	40
Barb Snipes	9708	60	161	47
Matt Lucas	1356	12	113	85
Sheri Kull	3303	39	84	108
Zeke Adams	10412	66	157	50

Lane 17 - 4 - Savages Lanes HDCP=175 Avg=878

Name	Pins	Gms	Avg HDCP	
Krystal Lengel	9156	51	179	32
Stephanie Neal	6170	42	146	59
Jeanette Simmons	12530	69	181	31
Donna Loubey	14587	86	169	40
Angela Kerns	17090	84	203	13

Lane 18 - 5 - Victory GMC HDCP=227 Avg=813

Name	Pins	Gms	Avg HDCP	
Jared Newman	2068	21	98	97
Scott Kneale	13724	81	169	40
Dewayne Fuller	14390	87	165	44
Bryan Fuller	15604	87	179	32
Garrett Fuller	13958	69	202	14

Lane 19 - 1 - Lengels Custom Cabinets HDCP=51 Avg=1038

Name	Pins	Gms	Avg HDCP	
Shayna Spencer	16067	84	191	23
Brad Lengel	11030	51	216	3
Dana Barlow	15855	81	195	20
Doug Barlow	16687	78	213	5
Dave Campbell	17461	78	223	0

Lane 20 - 9 - Junk Drawer HDCP=65 Avg=1016

Name	Pins	Gms	Avg HDCP	
Cody Cook	14976	81	184	28
Kelley Wisneski	15096	78	193	21
Bryan Cook	16629	81	205	12
TJ Piepergerdes	18175	84	216	3
Caden Cook	13759	63	218	1

Lane 21 - 12 - MCON HDCP=0 Avg=1120

Name	Pins	Gms	Avg HDCP	
Jeremy Snipes	14791	66	224	0
Erin Larison	14589	66	221	0
Ryan Brown	15181	66	230	0
Brandon Libel	15036	68	221	0
David Goodale	18224	81	224	0
Roger Murphy	5628	27	208	9

Lane 22 - 15 - All or Nothing HDCP=143 Avg=919

Name	Pins	Gms	Avg HDCP	
Emmy Bucher	15281	87	175	36
Kim Duke	11360	78	145	60
Austin Wallace	14974	72	207	10
Ray Knoth	16682	86	193	21
Woody Tinney	17389	87	199	16

Lane 23 - 7 - Kerns Motor Service HDCP=71 Avg=1007

Name	Pins	Gms	Avg HDCP	
Rick Gebauer	16696	78	214	4
Carson Sherlock	11995	60	199	16
Jack Workman	14544	78	186	27
Paul Kerns	13165	66	199	16
Skyler Kretzer	14480	69	209	8
Ed Loubey III	12664	68	186	27

Lane 24 - 20 - Adam's Family Productions HDCP=238 Avg=800

Name	Pins	Gms	Avg HDCP	
Heather Arguello	9037	78	115	84
Lloyd Kretzschmer	6434	39	164	44
Andrea Adams	12177	84	144	60
Kristyn McCarthy	12887	75	171	39
Adam McCarthy	17379	84	206	11

Temporary Substitutes Division 1: Division1

Men Division 1: Division1

Name	Avg HDCP		Pins Gms		High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
Bill	0	0	0	0	0	0						0	0
Dustin Adams	211	7	1899	9	257	653						0	0
Bradley Anderson	0	0	0	0	0	0						0	0
Jake Bassett	0	0	0	0	0	0						0	0
Doug Beaver	139	64	5437	39	187	487	255	688				0	0
Marquis Bennett	0	0	0	0	0	0						0	0
Zach Bond	0	0	0	0	0	0						0	0
Darrel Brown	0	0	0	0	0	0						0	0
Marshall Bucher	191	23	574	3	217	574						0	0
Doug Burks	0	0	0	0	0	0						0	0
Ryan Burks	212	6	5097	24	270	724	272	687				0	0
Noah Callaway	169	40	509	3	187	509						0	0
Jesse Campbell	227	0	1363	6	299	723						0	0
Austin Carpenter	137	66	412	3	148	412						0	0
Mike Chappell	136	67	408	3	162	408						0	0
Gentry Cline	164	44	1477	9	197	563						0	0
Jay Cochran	0	0	0	0	0	0						0	0
Brett Collings	159	48	478	3	166	478						0	0
Scott Courter	202	14	1825	9	237	635						0	0
Colby Cruz	0	0	0	0	0	0						0	0
Corey Cunningham	124	76	5960	48	171	444	247	656				0	0

Name	Avg HDCP		Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
Corey Davenport	0	0	0	0	0	0						0	0
Chris Davidson	147	58	2655	18	214	519	276	705				0	0
Jeff Dewar	106	91	640	6	147	383						0	0
Michael D. Dixon	0	0	0	0	0	0						0	0
Austin Doby	121	79	4012	33	149	417	232	657				0	0
Curtis Domann	174	36	522	3	185	522						0	0
Jared Dowden	0	0	0	0	0	0						0	0
Kyle Dowden	0	0	0	0	0	0						0	0
Jonnie Eggman	206	11	10525	51	245	683	258	719	189	224	191	604	637
Jesse Ellis	173	37	1038	6	202	520						0	0
JASON FIELD	192	22	5764	30	247	662	247	686				0	0
James Franken	0	0	0	0	0	0						0	0
Zach Fry	177	34	531	3	199	531						0	0
Colt Goodwin	0	0	0	0	0	0						0	0
Mike Goodwin	0	0	0	0	0	0						0	0
Mike Gray	205	12	4933	24	237	659	253	702				0	0
Matt Grunter	112	86	1012	9	148	378						0	0
Jason Hamilton	0	0	0	0	0	0						0	0
Ron Hankins	0	0	0	0	0	0						0	0
Butch Harris	0	0	0	0	0	0						0	0
Donnie Heater	0	0	0	0	0	0						0	0
Pat Henderson	0	0	0	0	0	0						0	0
Randell Howard	0	0	0	0	0	0						0	0
Mark Huxtable	0	0	0	0	0	0						0	0
Doyle Irvin	0	0	0	0	0	0						0	0
Bubba Jackson	0	0	0	0	0	0						0	0
Heather Jackson	0	0	0	0	0	0						0	0
Toby Jenkins	0	0	0	0	0	0						0	0
Ryan Kneale	190	24	6293	33	255	642	264	662				0	0
TJ Lake	210	8	8192	39	264	714	262	710				0	0
Bobby Larson	0	0	0	0	0	0						0	0
Brok Lawrence	172	38	1555	9	225	559						0	0
Dave Lawrence	0	0	0	0	0	0						0	0
Scott Leneale	0	0	0	0	0	0						0	0
Brad Lengel	0	0	0	0	0	0						0	0
Bill Long	0	0	0	0	0	0						0	0
Danny Loubey	0	0	0	0	0	0						0	0
David Loubey	210	8	1263	6	255	687						0	0
Ed Loubey	0	0	0	0	0	0						0	0
Taijah Lyle	127	74	1531	12	157	430						0	0
Scott M	152	54	457	3	158	457						0	0
Corey Mather	0	0	0	0	0	0						0	0
Lloyd Matthews	0	0	0	0	0	0						0	0
Devin May	215	4	2583	12	259	703						0	0
Walt May	156	51	938	6	205	498						0	0
Eddie McDowell	218	1	654	3	224	654						0	0
Bryan McMillian	0	0	0	0	0	0						0	0
Jimmie McQueen	0	0	0	0	0	0						0	0
Gary Moppin	188	25	565	3	210	565						0	0
Jay Myers	0	0	0	0	0	0						0	0
Dennis Neal	188	25	1132	6	215	575						0	0
Chase NicholSEN	0	0	0	0	0	0						0	0
Colby Oyerly	169	40	509	3	213	509						0	0
Jake Payne	0	0	0	0	0	0						0	0
Trevor Piepergerdes	226	0	1360	6	248	699						0	0
Bill Preston	0	0	0	0	0	0						0	0
Zachary R. Preston	0	0	0	0	0	0						0	0
Jay Rangel	0	0	0	0	0	0						0	0
Zack Riley	0	0	0	0	0	0						0	0
Chad Roberts	0	0	0	0	0	0						0	0
Joe Robinson	0	0	0	0	0	0						0	0
Derek Roe	0	0	0	0	0	0						0	0
Aron Sharp	0	0	0	0	0	0						0	0
Kenny Shulze	0	0	0	0	0	0						0	0

Name	Avg HDCP		Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
JUSTIN SMITH	195	20	8790	45	267	683	296	764				0	0
Hadlyn Snipes	108	89	4569	42	159	395	251	671	106	154	107	367	637
Sutton Snipes	167	42	2011	12	201	528						0	0
Steve St. Clair	201	15	2419	12	274	733			196	194	155	545	572
Kevin Talbott	0	0	0	0	0	0						0	0
Jennifer Taylor	0	0	0	0	0	0						0	0
Mike Taylor	0	0	0	0	0	0						0	0
Scott Thompson	89	104	801	9	109	302			92	101	109	302	629
Alan Van Zandt	0	0	0	0	0	0						0	0
Andy Vice	0	0	0	0	0	0						0	0
Chandler Walker	0	0	0	0	0	0						0	0
Frank Welter	170	40	9227	54	248	625	295	751	192	197	196	585	705
Kevin West	179	32	6469	36	229	622	262	715	179	151	185	515	611
Danny Wheeler	0	0	0	0	0	0						0	0
Clayton Willis	0	0	0	0	0	0						0	0
Jeff Wilson	210	8	3789	18	268	707	269	625				0	0
Terry Wilson	0	0	0	0	0	0						0	0
Zach Wolfe	0	0	0	0	0	0						0	0
Lee Worley	220	0	660	3	236	660						0	0
Sam Zebelean Jr.	200	16	10248	51	255	681	259	724				0	0

Women Division 1: Division1

Name	Avg HDCP		Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
Brittany Annigian	172	38	4662	27	237	583	276	661				0	0
Rebekkah Bassett	0	0	0	0	0	0						0	0
Tammy Brown	0	0	0	0	0	0						0	0
Brenda Burks	0	0	0	0	0	0						0	0
Madison Burlington	0	0	0	0	0	0						0	0
Mady Cook	165	44	2481	15	223	550	271	694				0	0
Angie Cruse	107	90	321	3	125	321						0	0
Erica Goodwin	0	0	0	0	0	0						0	0
Kaysee Haynes	164	44	493	3	176	493						0	0
Sheila Higdon	152	54	2750	18	210	529	212	585				0	0
Brindi Hughes	0	0	0	0	0	0						0	0
Kelley K	110	88	332	3	117	332						0	0
Emma Knoth	0	0	0	0	0	0						0	0
Mady Lyon	0	0	0	0	0	0						0	0
Dawn Myers	0	0	0	0	0	0						0	0
Ryleigh Nurski	0	0	0	0	0	0						0	0
Payton Olson	132	70	398	3	150	398						0	0
Andrea Schulze	0	0	0	0	0	0						0	0
Ashley Smith	190	24	6843	36	258	699	286	780				0	0
Chandler Smith	0	0	0	0	0	0						0	0
Judee Strukel	0	0	0	0	0	0						0	0
Pam Talbott	0	0	0	0	0	0						0	0
Heather Thompson	91	103	822	9	139	338			89	80	94	263	566
Michelle Velvick	112	86	337	3	135	337						0	0